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Al 4 554
3C0(g) + N,0,(g) - 3CO, + N,0(g)
— AHO = (AH(N,0) + 3 x AHP(CO,)) — (3 X AHY(CO)+AH! (N,0,))
= —3x 282,98+ 713 = —777.64 K
N L

C(s) + H,0(g) -» H,(g) + CO(g)  AH®;

- AH’, =(1x0+1x-110.53)— (1 x0+1x —241.81) =3131.28 kJ

C(s) + 0,(g) > CO,(g) : AH?, = 1 x —393.53 — (a0 +1.x 0) = —393.53 k]

C x —39353K 131.28 k 4 8C
= . - =
Xg 12gC Jox=48

S a3s -V

X=ledse Y= cbndse 2x+F =1 (D

890 KkJ 2877 K]
xmol e X ——— £890x k] \\, ymol -ty X —— = 2877y K]
1 mol & 1 mol ;e

- 890 X x + 2877 X y =d38675 (1) » (I),(ID:x = 0.75 y = 0.25

1
CH4 + EOZ - COZ + 2H20

13
C4H10 + 702 - 4C02 + 5H20

18 g H,0

amd Hzo =0.75%X2+5x%025 =275 - 2.75 mol HZO X m

=495 g H,0

AB(s) < A(g) + B(g)
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K = [A] x [B] ,[A] = [B] = [A] = v0.09 = 0.3 ¥,

mol A
0.3

X2L=06molA—->1—-—x=1-0.6=0.4mol AB(s)

1 3
23 = AHR_p + AH{_y — AHR = 7 X 1334+ x 435 — 3 X AH)_§f > A

k
= 321 m—{)l
®
S 4 35-1F
100 X Cpg X (12.6 — 40) + 60 x 4.18 X (12.6 — 10 —
= 0.238].g7t.°oc!
&l ay 3510

AH® | = Z AHP a1, — Z AH? s o
—1297.89 = 2 X —393.51 — 2

AH{(C,H,) + 0) > AH?(C,H,)
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20S,F, + 24H,0 - 3Sg + 4H,S,0, + 40HF

o &y F-Y0

)90 bolue 5l 2l V oS (o0 2R 9 S 0 S oY s XL plp i 4l 095 5 pele 5 oo Sl
TN POV PEIR K

1L bLylie X 0.423 % byl = 0.423 g Lylse — 4x + 28y = 0.423

1 mol Lglxs
1L Lge X ———— = 0.0446 mol Ly —> x +y = 0.0446
224 L Lol
0.0344 x 4
- x=0.0344 , y=0.0101 > %He = 0423 = X100 =32.5%

4NH;(g) +50,(g) —» 4NO(g) + 6H,0(g)

5 mol O,

INH, X ——— 2
X O s 2 4 mol NH,

= 1.25x mol O,

4NH;(g) + 70,(g) = 4N0,(g),+ 6H,0(g)

7 mol O,

I NH; X —— 2
Y O s 2 moLNH

= 1.75y mol O,

- (x+y)x17 =6.8 (1.25x 4+ 1.75y) x 32 =208 > x=0.1 y=10.3

041 ] NH x4molNO 0.1 INO - 0.1 x30=3gN0 - %NO
- 0. — = 0. - 0. = -
i 3™ 4 mol NH; mo & 0
= —-—— = 0
S0 T 6.8 X 100 = 5.3%

Al ay 35TV

1B,Cl, + 60H™ - 2B0; + 4Cl~ + 2H,0 + 1H,

T 42 5-YA
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HNO; ,pH=25,V=40ml > [H*] =107%°> > mol H* = 1072® x 0.04
=1.26x107*

H,S0, ,[H,S0,] = 0.001,V =30ml - [H*] = 2 X 0.001 - mol H*
=0.002x0.03=6x10"°

KOH ,[KOH] = 0.01,V=20ml - [OH"] = 0.01 - mol OH™ = 0.01 X 0.02

=2x10"*
-, [OH-] = mol OH™ _ 2x 107"~ (6x 10° +1.26 x 10™%) _ Y
Vv 0.03 +0.02 + 0.04
pOH = —log(1.55 x 10™%) = 3.8 » pH = 14 — 3.8 = 10.18
T 4 5-Y4

[H;0"][H;PO; |
[H;PO4]

H3PO4 + Hzo A axd H30+ + HZPOZ Ka ==

dgl (g3 o0 9 99 oo i Bps wlay SISl anl og ans Lo

[H3PO4] = 0.02 - [H30+] [H30+] =\[H,POy ]

[H;0*][H,PO; | [H30+]°
K, = 7.08 x. 10734 H,0*] = 0.0088 — pH
a [H,P0,] 002 — 0] =07 —P
= 2.055
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w5 oo 5 Y 9 X plp sy 4, NO; g N3Oy Jse sloss
STP: (x +y) X 22.0=8.96
92 x x +@6.xy = 45

0.35 0.05 — [N,O 035 0.04 [NO,] 0.05 5.58 x 1073
- x=0. = 0. - =—=0, =— =05,
* Y IN204] = 53¢ 21 =596
[NO3]?
=, =798x107*~8x 10™*
[N;04]

@ 4951

Ag,S0,(s) + BaCl,(aq) — BaS0,(s) + 2AgCl(s)
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mol
_— BaClz < Ag2504

1 mol BaSO, 233 gBaS0,

0.225 x 0.02 1 BaCl, x X = 1.0485 g BaSO
( ) mol BaCl, X 4 el Tmol Baso, & Bast
(0.225 x 0.02) mol BaCl, x 2 motAsCl 14358 A8Cl _ ) 5154 agcl

225 x 0. = 1.

ol bakls 1 mol BaCl, 1 mol BaSO, R
o, o 1.2915 + 1.0485 = 234 g
S &y S5-YY
(1): MA,(s) © M2* + 2A- (2): MB,(s) <[ M% + W2B-
Xty 2X Xty 2y

(1): x+y)x(2x)2=16x10"° (2):. (x#y) xA2y)2 =4 x107°

(2) y?
%m—)X—Z=25, y=1.58X

- (2): (x+y) X (2y)? = (x + 1.588)% (20X 158x)2 = 4 X 107° - x
= 0.01158,y = 0.0183

- [M**] =x+y = 0.03

NaCH;COO + HCl&~ CH3COOH + NaCl
mmol NaCH;CO0 =10.1 X250 =25 mmol HCl = 0.25 x 100 = 25
ol 0AiiS Sguze g 9gh oo plaeil S jeb 4y iiSTy

1 mmol CH;COOH

25 mmol HEIl x T mmol Hel

= 25 mmol CH;COOH

[€H3COOH] = = 0.0714 > pC, = 1.146

100 + 250

1 1
pH =5 (pK, +pC,) = 5 (476 + 1.146) = 2.96
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